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1 _________________________________
iffab Arq 83 84 L -A CD
[ 2 600 4-530 4539 126766" 885175 5 37627 - _ . —
r 2 SV. _  - _ _
1 7
| 4 _________ *____________________________________________________________________________ -___________

1 X ___________ ________________________ _______
I 3 Pax .

e Ad?.
— _ ■



Moons place at — 515, Moon Tables CBTOwn)
Date = -fcoc?+85y G.J1.T. = -fe00y+ 85-*' =-600y+85?

Tach Atc^ D 1 Z 3 4 5 6 7 12 16 17 18 19
z 
z

-600 _
S.v.

3-4009 1 2.994 1 01.68 6 1.77 2 6.21 3.47 <18.20 62.47 23.13 140.467 1 5.90 33.1 1 57.17

3 -
4-
3 — 1 Pax.
3 “PjlXAOdS - ■ ■

S1VYVU1

Tab A-rq 23 24 25 26 27 28 29
z 
z
3
4
3
3

_.3_

S.V.____
1.5 578.0 4.5 69.7 20.0 3 8. | 17.0 9 447 1 5. 5 1 7.7 8.0 5.9 18.5 200.5

“Pax.
Adf.

S U/YYLb
>

Tab Atq^ 30 31 32 33 34 35 36
2 
a

-600
S.V.___

18.5 211.929 3.0 235.55 17.0 274.32 3.0 78.52 27.5 12.82 8.5 155.55 1.5 0.9

to -4* to to »o ~ Pax.
Adj-

O U/YWb

Tab Aycj 37 38 39 40 41 42 43
2 
2
.3
4
3
3 
3.

—6Q0__
S.V.___

7.5 270.7 4.0 15 0.0 0.5 20.9 7.5 89.01 57.0 |8.3 23.5 35.8 2.0 8G.8

“"Pax-
Adi. _s O OUAYtb

Tab Arq 44 45 46 47 53 54 55

2 
2

‘ I 

_3_

-600 „
S.V.___

6-0 47.8 12.0 25.1 16.0 32.0 14.5 2.155.5 38.9 1.0 10.4 37.0 3.2!

3
__ 3

~P1X. 
Adj.o ou/vyU>

Tab Atq 56 57 58 59 60 61 62

■ 
v

W

-600__
S.V. _

6.5____ 61.9 15.5 105.3 2 !4.3 43.5 4.62 1.5 _ 160.7 16.0 35.1 7.5 _ 1 54 _

-

3
3

—PjfcX.
Adr.

Q * K©u/yvLb

ab At^ 71 72 73 74 76 77 82
2 
2 
3
4 
3

-600__
S.V.

18.5 141.29 17.0 89.25 8.5 155.5 1.5___ 6 8.6 4.0 ____ 29.6 7.5 _ 44.4 4644

3
< 3

“Pax
Aric.

Q ** .OU/WLb

1 5’H Arq 83 84 L -A 00

o?
 oa

 w
 >

 V
i fu

 n* 600
S.V. _

4530 4539 126766" 885175 5 37627 — ■ ■ — — . — - —

•

“'Pax. 
Adj.

—
- 1 r• ’ -

SuAVU)



Date =
Moon Tables (Drown)

Ta-b Atcj D 1 2 3 4 5 6 7 12 16 17 18 19
z 0 6.87 0 A A.425 125-76 38.00 67.63 5 2.70 1 1 5.23 39.44 14.34 185.565 40.36 20.1 6 3.9 5
z
3 
4
3
3 _

S.v. -
----- — —

~ 1 Pax .
-P&xxods
S UAVUb

I_____________________________________________________________ . ________ 1
Tab Atq 23 24 25 26 27 28 29 •

C\1 02 K
) d" to to to

0 5.5 4 10.1 7.5___ 1 06.7 1-5 1 5 2.7 26.5 116.95 13.5____G5-1 3-5 48ZL L6.0____ IflJB/A
S-V. — -

"Pot. 
Adf.

7
| S UZOfLb I 1 1 1 1

Ta,b Atq 
*

30 31 32 ________ 33_______ _____ 34 35 36

c\j to d* to to
 to

0
s.v.

27.0 1 59.631 .6.5 218.10 15.0 _l 10.15 .6.5___ 72.70 105.0 _ 11.47 4.0 201.97 15.0 3 8.5

__

— PkX.
Adc.

—
Q J
O LWVX^

EZ_________________________________________________________________________________________________________________________________ 1
Tab Art} 37 38 39 40 41_______ _______ 42 ____ 43

2 0 9. 5 o.i 3.0 0 2.6 ~5J3___ 21-9 4.0 _ 19.43 -144.0____ 0.4 8-0_____ 8 1 -6 -2.5___  3 6.0oj tO < tO tO C
O

S.V.

—P&a. 
Adj.

----- —

S VLVWb
1______________________________________: :_____ - ~ •■ ___________ __J

Tab Avq 44 45 1 46 | 1 47 1 53 54 55

: 2 7 7

-------------------- y

0 5-0 __ 140.7 7.0 A 7.5 J .5_____ 5Q/ 3 1.0 _14._3' 8.0 L5.5_ 1 1.5 42.2 L 0.0 _ 6 2.27
2
3
4
3
3
3

S.V. —
- •

~Pu. 
Adj.

--------- -
Q J
O LVYVU) 1

Tab. Atcj 56 ‘ 57 58 59 60 61 62
2 0 .7.5 .68.5 .1 2.5___4A.3_ 1 26.0____3.6 T _4,-5______ 1 6.0 2 3,0 14.7 2.5. _ 14J_
2
3
4

- 3

S.V. —

-

to to
L 

- - 1 
'

~Pax. 
Adc.

—.... —

Q vo uzwbb
1

Tab At^ 71 72 73 74 76 77 82
; 2 Q 27.0 106.42 15.0___ 3 5.84 4.0___ 202.0 5,5______ 4B..6. 3D__-18.3- 9.5______ 0.0- 62 5 7oj to 4 to

s.v.
_____________
_____________

3
3_

~ Pax. 
Adj-

—
o J . 
OU/Wbb

L____________________________________________________________________
Tab Ayq _______ 83 _____ 84 L -a CD

2 0 617 8 618 5 295401 _ 1 192540 310177cj to M
- to to to

S.V.
— -------- ... ----- -----

~ Pax. 
Adj.

- I 296 000 —1296000

S LWWti ■■ ■ ---------



Moon Tables (Brown)
Date =

Tab A-rc^ D 1 2 3 4 5 6 7 12 16 17 18 19

a 0 6.87 09 9.425 1 25-76 38.00 G7.63 5 2.70 1 1 5.23 39.44 14.34 85.565 40-36 20.1 6 3-9 5
2
3
4
3

S.v.

~ 1 Pax .
-

1

3 —PaxxocLs
S WVVX4

Tab A-rq 23 24 25 26 27 28 29
2
2
3
4

0
s.v.

5.5 4-10.1 7 -5 1 06.7 1 .5 1 5 2.7 2 6.5 I I 6.9 5 1 3.5 65. I 3.5 48 -7 1 6.0 1 0 8.9

3
3
3

“Pax. .
Adf.

S LLOVLb

Tab Atq 30 31 32 33 34 35 36
a 0 27.0 1 59.63.1 6.5 218. 0 1 5.0 1 1 0.15 . 6.5 72.7 0 1 0 5.0 1 1 .47 4.0 2 0 1.9 7 1 5.0 38.5
2
3
4
3

S.V.

—

— —

3
3

“Pa4.
Adr •

-----  .. -

Q vO Ll/vwb

Tab Avq 37 38 39 40 41 42 43

2 0 4 5 0.1 3.0 Q 2.6 5.0 21.9 4.0 19.43 144.0 0.4 8-0 8 1.6 2.5 3 6.0a) to <fr K

S.V.

----- —

—

3
3

“PkA- 
Adj.

- —-----— —

S IWYVb

Tab Avq 44 45 46 47 53 54 55

2 0 5-0 1 40.7 7.0 9 7.5 1.5 50.7 3 1.0 1 4.37 8.0 1 5.5 1 1.5 42.a 1 0.0 62.27
2
3

S.V.
—

.—.... _. —

4
3

— - —_ —

3
3

“Pax.
Adr.

< ■

Q JO IWWb

Tab Atq 56 57 58 59 60 61 62

2 0 7.5 68.5 1 2 .5 49 .3 3 4 9-4 126.0 3.67 4.5 1 6.0 23.0 J 4.7 2.5 141 _

2
3

S.V. -----—— - — - - - ---- --------- -—-—

4
; 3

- —— — .... — - . —_—. -—

3 —Pjjx

3 Adr.
Q KO uzvwb

Tab Atq 71 72 73 74 76 77 82

2
2
3
4

J

3

------- —3----
0
S.V.

27.0 1 06.42 I 5.0 3 5.84 4.0 202.0 5.5 48. &_ 3.0 _ ____ 1 8.2 9.5 0.0 62 57

3
■ 3

—Pax. 
Adr.

—

QO u/Wbb

Tab Avq 83 84 L -a CD
2 0 617 8 6 18 5 295401 1 19 2540 310177 —
2
3
4
3

s.v.
-

—

— -

3
3

—P1X..
Adj.

■— 1 296000 - 1296 000

S u/mb
■ ■

-



Moon Tables (Brown)
Date =

Tab At<^ D 1 a 3 t-f- 5 6 7 12 1 6 17 18 19
2
2
3
4
3

0 
S. v.

~ l Pax. .

6.87 OA 9.425 1 25-76 38.00 67.63 5 2.70 1 1 5.23 39.44 14.34 1 85.565 40.36 20.1 6 3.A5

3 —Psxxods
S Wwx4 —

Tab Atq 23 24 25 26 27 28 29
a 0 5.5 410.1 7.5 106.7 1.5 15 2.7 26.5 l l 6.95 13.5 65.1 3.5 48-7 16-0 18 8.A
a S.V. — - --------------------- —
3 ______ - - A. - . __ . — ______ __________
4 —- •
3
3 ""Pax .
3 Adf.

S ixnvLb ----------------------------- -

Tab Atq 30 31 32 33 34 35 36

(U 
C
M tO 

tO tO
 tO

0
S.V.

27.0 I59.G3I 6.5 218.10 1 5.0 II 0.15 . G.5 72.70 105.0 11.47 4.0 201.97 1 5.0 3 8.5
- - — 1

—_—

” P^h-. 
Adf.

—

o .O LWWb

Tab Avq 37 38 39 40 41 42 43

oj oj to d to to to 
..........................

i

0
S.V.

9.5 0.1 3.0 92.6 5.0 21-9 4.0 _ 19.43 144.0 0.4 8-0 81.6 2.5 _ 3 6.0

~Pax. 
Adj.

■ - —

S UL/VYVb

Tab Atq 44 45 46 47 53 54 55

cM 
nJ to M

- to to to

0

S.V.
5-0 140.7 7.0 97.5 1.5 50.7 3 1.0 14.37

-------------------------------------------9--------------------

8.0 15.5 11.5 42.a 10.0 62. 27

“Pax. 
Adj.

Q.O vuvwb

Tab At c} 56 57 58 59 60 61 62

1 . c
m
 .£» 

c
m
 ro

 ro 0
S.V.

7.5 68.5 12.5 49.3 349-4 126.0 3.67 4.5 16.0 2 3.0 J4.7 2.5 _ 141

to to
i.

~Pam. 
Adc.

- . —---- - — —

Q J KO uyyvtb

Tab At^ 71 72 73 74 76 77 82
2

. 2
3
4 !
3

0
S.V.

27.0 106.42 15.0 3 5.84 4.o „ 2oa.o 5.5 _ 48.6_ 3.0____ 1 8.3 9.5 0.Q 62 57

3
3

— Pax. 
Adc.

— .

o Jo u/wu»

Tab Atq 83 84 L -A CD

co cj ro d to to to

0
S.V.

617 8 6 18 5 295401 1 19 2540 310177 —

~Pjui . 
Adf.

- 129 6 000 - 12 9 6 0 00

— *

—------ S tWWt>



Moon Tables (Brown)
Date -_______________________________ •__________ .________________

Taub Atc^ D 1 2 3 4 5 6 7 12 1 6 17 18 19

a 
a

0 G.8 709 9.425 I 2 5-76 38.00 67.63 5 2.70 1 1 5.23 39.44 14.34 1 85.565 40.36 20.1 6 3.9 5

S.v.
3
4
3
3

~ 1 Pax .
—Pxxiods
S urm&

— ---------- -- --------- -------

Tab Arq 23 24 25 26 27 28 29
a 
a

0 5-5 Al 0.1 7.5 10 G.7 1-5 15 2.7 26.5 l l 6.95 13.5 G5.I 35 48-7 16.0 18 8.9
s.v.

3
4
3
3
3

“Po,.
Adf.

S an'VLb ---
■ ... . . _ 1

Tab Arq 30 31 32 33 34 35 36 J

a 
a
3
4
3
3
3

0 27.0 159.63 1 6.5 218. 1 0 1 5.9 II 0.15 6.5 72.70 105.0 11.47 4.0 201.97 15.0 3 8.5
s.v.

~ Pax. 
Ade.

QO U/VWb

Tab Arq 37 38 39 40 41 42 43

aj oj tO T bO to tC

0 9.5 0.1 3.o <u.g 5.0 21.9 4.0 19.43 144.0 0.4 8.0 S 1-6 2.5 36.0
S.V.

-------------------------

~ PiX- 
Adj.

- — —----

S UMVVVb
___________ _ ___— .

Tab Arq 44 45 46 47 53 54 55

a 0 5.0 140.7 7.0 9 7.5 1.5 5 0.7 3 1.0 14.37 8.0 15.5 1 1.5 42.2 10.0 62.27
a
3
4
3

S.V.

■

04
 CM

 <

“Pax . 
Adj.

o uwvcb

Tab Arq 56 57 58 59 60 61 62

>•
 *

CM
 04 ro ro Q 7.5 68.5 12.5 49.3 3494 126.0 3.67 4.5 16.0 23.0 .14.7 2.5 14) .

S.V.
to to. 

1.

~Pax.
Adc.

Q KO uzvvtb

Tab At^ 71 72 73 74 76 77 82

2
2
3
4
3

o 27.0 106.42 15.0 3 5.84 4.0 202.0 5.5 48-6 3.0 18.3 9.5 0.0 6 2 57
S.V.

______

3
3

—Pax.
Adr.

♦

Q OO U/WLb -

Tab Arq 83 84 L -A CD
2

---- —--V —
0 G 1 7 8 G I 6 5 295401 1 1 9 2540 310177

2
3
4
3
3
3

s.v.

1

~ Pax . 
Ad£.

— 296000 - 12 9 6 0 00

_ ____________ ____
S uywvb



Moon Tables (Brown)
Date =

Toth At^ D 1 2 3 4 5 6 7 12 1 6 17 18 19
a 0 6.87 09 9.425 1 2 5-76 38.00 67.63 5 2.70 1 1 5.23 39.44 14.34- 1 85.565 40.36 20.1 6 3.9 5
a S.v.
3
4
3 ~ 1 Pax .
3 — Paolo ds

S Wvvx4

Tab A-rq 23 24 25 26 27 28 29
a 0 5.5 -4 O.| 7 .5 I0G.7 1 .5 1 52.7 2 6.5 1 1 6.95 1 3.5 65- 1 3-5 48 .7 IJ&.O 1 88.9
a s.v.
3
4
3
3 “Pax .
3 Adf.

S ixnVLb

Tab Atcj 30 31 32 33 34 35 36
a o__ L_ 27.0 159.63 1 G KD 218.10 1 5.0 1 f 0.15 . 6.5 72.70 10 5.0 1 1.47 4.0 2 0 1.9 7 1 5.0 38.5
a s.v.
3
4
3
3 ■Tjx.
3 Adj-O •' .O LWWb

Tab Atcj 37 38 39 40 41 42 43
a 0 9.5 o.i 3.0 9 2 .6 5.0 2 1.9 4.0 I 9.43 144.0 0.4 8.0 8 1.6 2.5 3 6.0
a S.V.
3
4
3
3 “PiA-
3_ Adj-

S uaviZj

Tab Avq 44 45 46 47 53 54 55

a 0 5-0 140.7 7. 0 9 7 5 l. 5 5 0.7 3 1.0 1 4.37 8.0

------- *-------

1 5.5 1 1.5 42.a 1 0.0 62.27
a S.V.
3
4
3
3 “Pax .
3 Adj- ..

S LX/WUb

Tab Atcj 56 ■ 57 58 59 60 61 62
2 0 7.5 68.5 1 a .5 48 3 3 4 9.4 1 26.0 3-67 4.5 l 6-0 23-0 14.7 2.5 1 4 1
2 S.V.
3
4

; 3
3 ~PaM.
3 Adj.

S uyyvLb

Tab Atq 71 72 73 74 76 77 82
a 0 27.0 106.42 15.0 3 5.8 4 4.0 aoa.o 5.5 48-6 ... 3.0 1 8.3 9.5 0.0. 6 2 5 7
a S.V.
3
4
3
3 “ Pax .
3 Adj.Q **O uwwb

Tab Atq 83 84 L ■a CD
a 0 617 8 6 18 5 29 5401 1 1 9 2540 310177
a S.V.
3
4 •

3
3 ~Pax . - 1296000 - 1 2 9 6 0 00

3 Adj.J

S iwvvb



Moon Tables (Brown)
Da±e =

U
 Ca

! oj ro p
o P 

i

Atq

0
S.V.

~ 1 Pax .
—P&xiods
S WvwX

D

6.87 0 9

1

9.425

2
12 5-76

_3_____

38.00

4

67.63

5
5 2.70

6
1 1 5.23

7

39.44 ; fv C
4

1 ! *
 1 16____

1 85.565

17

40.36

18

20.1 6

19
3.9 5

Tab Atq 23 24 25 26 27 28 29
Z 
z 
3 
4 
3 
3 
3

0
S.V.

5.5 410.1 7.5 106.7 1.5 15 2.7 26.5 l 1 6.95 13.5 G5.I 3-5 48-7 16-0 18 8.9

Adf.
---------------------------- ----—------------------ ™------------------------- —— - — •-••••..............................——

S ixnvub

Tab Atq 30 31 32 33 34 35
________________ |

36
a 
a
3
4
3
3 
3

0
S.V.

27.0 159.63 1 6.5 218.10 1 5.0 1 1 0.15 G.5 72.70 105.0 11-47 4.0 201.97 1 5.0 38.5

““Pax.
Ade.

------------------- ,--------------------------- ------------------------ —,------ —„---------- ---------__------------------ ---- ----- --------------- ------------ -------- ..—— — --------------- -—
Q J
O LVWOb

Tab 
2 
2 
3 
4
3 
3

Av<}
0
S.V_____

37
9.5 0.1

38
3.0 92.6

39
5.0 21-9

40
4.0 _ 19.43

____ 41
144.0 0.4

_______ 42_______
8-0 8 1.6

43

2.5 36.0

“Pax- 
Adj.
— ----------------------- — --------------—— ——---- -- - ■ - ----- - --------—------------------

S lwyyX

Tab A rq 44 45 46 47 53 54 55

cu oj to M
- to to to 

.. 
. 

1 
J

0

S.v.
5.0 140.7 7.0 97.5 1.5 50.7 3 1.0 14.37

------------------- ,------ --

8.0 15.5 11.5 42.2 10.0 62.27

“Pax. 
Adj.

--------------------------- ------------------- -----------— - —
Q JO wvwb

Tab Atq 56 57 58 59 60 61 62

o
j oJ ro 

to
. 

ci

0
S.V. _

7.5 68.5 12.5 49.3 349.4 126.0 3-67 4.5 16-0 2 3.0 J 4.7 2.5 _ 141

to toi. 
.

“Pax. . 
Adc.
——----------------------- -------------- .--------- .—---------------—— -- -- - -— - • - --

Q KO uzyvbb

Tab Atc| 71 72 73 74 76 77 82

2
. 2

3
' 4!

3

.0
S.V. ____

27.0 106.42 15.0 3 5.84 4.0 20 2.0 5.5 48-6 3.0 __ 18.3 9.5 _o.a 6 2 5 7

to to “Pax.
Adc.

——— — ■■■
o 0
O WVWb

Tab Avq 83 84 L -a CD
2
2
3
4
3
3
3

0
S.V.

617 8 6 16 5 295401 1 1 9 2540 3 1 0 > 7 7 —

“Pax . 
Adj.

S LWWb

—--------------- :-------------------------- —- --------------------- - 1296000 -1 296 000 ------------------- ---------- —

— —
- 1 II-



Moon Tables (Brown)
Date =

T a_b
2
2
3
4
3
3

0
S.v.

~ 1 Pax .
-P.axa.ods
S WWV4

D
6.87 o q

Lt

1

9.425

Z

1 25-76

3
38.00

4-

67.63

5
5 2.70

6

1 1 5.23

7

39.44

12
14.34

16_____

1 85.565

17
4036

18

20.1 6

19

3 9 5

— — - - — -- — — --------- -— ——
Tab .^19 23 24 25 26 27 28 29 ‘

2
2
3

0
s.v.

5-5 410.1 7.5 106.7 1-5 15 2.7 26.5 II 6.9 5 13.5 6 5-1 3-5 48-7 16-0 _ 188.9

4
3

. -----------------------

3
3

“Pax .
Adf.

— —

S VLb

Tab AtCJ 30 31 32 33 34 35 36

<u cv to 
to

0
s.v.

27-0 159.63 1 6.5 218.10 1 5.0 1 1 0.15 .6.5 72.70 105.0 11.47 4.0 201.97 1 5.0 3 8.5

3
3

—Pax.
Adj.

— ------------- .

QO lOVWb

Tab Arc} 37 38 39 40 41 42 43
2
2
3
4
3

0
s.v.

9.5 0.1 3.0 92.6 5.0 21-9 4.0 _ 19.43 144.0 0.4 8 0 8 1.6 2.5 _ 3 6.0

3 “P&X- 
Adj.

— —-—----- — —

S UTVWb

Tab Avq 44 45 46 47 53 54 55

al oj to 
to

0
S.v.

5-0 140.7 7.0 97.5 1.5 50.7 3 1.0 14.37

» —

8.0 15.5 11.5- 42.a 10.0 62.27

3
. _3

“Pax. 
Adj.O JO LWW>

•
Tab Avq 56 57 58 59 60 61 62

2 0 7.5 68.5 12.5 49.3 3 4 9-4 1 26.0 3.67 4.5 16-0 23.0 14.7 2.5 141
2
3

S.V. —-----— — . ———

4
; 3

— ----- - . —.—_ -—

3
3

“Pax.
Adc.

- . . -- ------- - - — —— — ----- —_ - _
Six/Jvb

Tab Art} 71 72 73 74 76 77 82
z a 27.0 106.42 15.0 3 5.84 4.0 20 2.0 5.5 48.6 3.0 18.3 9.5 0.0 6 2 5 7

: 2
3

' 4

S.v.

t
3
3
3

“Pax.
Adc.

—

Su/Jbb

Tab Arq 83 84 L -A CD
2
2
3
4
3

0
s.v.

617 8 6 18 5 295401 1 19 2540 310177 — •

3
3

~ PsJt. 
Ad?.

- 1296000 -1296000

S uzrvbb 1



Drop last two digits From III Drop one digit From IV § V

III
Tab Arq.

Date

1
2 
3
4 
5

6 
7

Hi!1 1 
1

1 
I 

1 1!
!

. 1 
1

1 
1 

1

1 
1 

1

1 
1

Sm 

16 
iq

m
—
— -—

1 Sain
I.F. 
k x 1st sirm

—
| £! = sum —

40
41

4a
43
44
45
46
47

— ■ ir—■

••-----------
— - ■

■ -----

1 X,0 1 1 1
y [ S urn ________

^3 (Tab.47 xk _________

III
Tab Arg.at Date

1

Value

23
24
25
26
27
28
29

... , —

Su 
30 
31 
32 
33 
34 
35 
36 
37 
38 
39

m_________________ —

— --------- -—

________

£ r Sum 
( k x 1st sum

Longitude = sum 
Tab. 5,11

—

IV
Tab Arg.

Date

1
2 
3
4 
5
6 
7

• l

—

SUY 
12 
13 
14 
15

a —

11
1 —

Sum — —
I.F.________
k X 1st sum =

— —

£4. = sura 
Za -.. ..............
P344-I0
P35 (P34~!03)

410
19 + 9 k 
-A

—--——"■
—

S = sum

1
2
3

5
16

IV
Tab Arg.

Date

1

VI Tab. Arg. Value I.F. -
For Tab. P 23 VI
Date =

Per. = X27o.qs =
Arg.=

k =

34
35
36
37
38
43

ru
 "d

 ~d
 "d

 
4 w

 n 
r
o
 

+ 4
 W 

l»
 

I -I-
 4 

4
•5
'~
 0 

0 0
II 0

 0 
0

Z,o = Sum —
Sum ------- ——

For Tclh. P 24- V1
I.F.
— CoTlStS.
P364- 10
P 36X37 4 10 = _

—
-

Dropping of digits from VI Date =
indicated by divisors 10 §100 Per.= X25T. 14 =

Arg. -
Interpolating Factor
If D= 16.353, I.F. = 2X C 16.5 ~ 16.353) = ~~.29
TFD=I6.65X. T.F. = 4.^1| S am = C = I g |

...... _ . If D= 17.022 , I.F. — 2X C.022) = 4.04

53
54
55
56

57
58
59

60

61
62

IV 
Tab Arg. at Date Value

16
17
18
K

V 
Tab Arg

Date

71

33 

7?.
73

7*

76

77

V 
Tab Arg.at Date Value

19
20
21
22
23
24
25
26
27
28

1
2
3 
4
5
6 
7

I 5 
1 6 
17 
18 
19 
21 
22

1

—— —
r~

——— S u> 
k(

■m _____
b uz

10
11
12
13

VY1 _
To.b.19 —200)

1 9 (Const.)1—1 1— 1—r - t- r- t mi j L1111.U1

Suva

— Con^bts.
k (.1 st tcoo tiznJLb

-340)

— —
Zq — Sum 
Tab. 24, Tab. Arg. 

w Parallax
—

S u/nn
I.F 
k ( -545).£.5 = Suva 

Tab.33, Arg.S =
1st Sum- X Drop 1 digit-from figuxju> in 

Table 24, VZ g - S am —
E?=sum 
E7 XC-rl06 —
LdtltucLe —sum 

" Tab.5,H



Drop last two digits from III Drop one digit from IV $ V

III
Tab Arq. -----

Date

1
2
3

5
6
7

------ -----
------ _ _

— ' * ----  —

----- —------- — ---- -- -------

Sum
16 
iq

------- -------

Sum
I.F ■
r\ x isl sain

Z । = sum —
40 

41

4a 
43 
44 
45
46 
47

—--------------- ----------

.. — — -

—

^•10

y ( S um __________
^■3 (Tab.47 x k

Ill
Tab Arg.at Date

1

Value
23
24
25
26
27
28
29
Sum________________
30
31
32
33
34
35
36
37
38
39

L

7 Sum
( k x 1st sum

It

Longitude = sum 
Tab. 5, II —

IV
Tab Arg.

Date

1 
2 
3 
4 
5 
6 
7

__________ _

—

- -

—

SUY 
12 
13 
14 
15

n —

11
1 —

Sum — — —

I.F. 
k x 1st sum =

—

Z4 = sum 
la___________
P34+ 10
P35 (P34-I03)

4-10
19 + a k 
- A

—-------

— ---------

S = sum

i

2

3
4
5

16

VI Tab. Arg. Value

Paa 4 ioo
P 23+ 100
P24~ 100 
24 + 9k = ____

Z,o = sum —

I.F. =
For Tab. P 23 VI
Date =

Per. = X 270.95 =
Arg.=

For Tab. P 29-VI
Date =

. Per. = x 257.14 =
Ato. =

Dropping of digits from VI 
indicated by divisors 10 §ioo

Interpolating Factor
If D= 16.353, I.F. = 2X (. 16.5 —16.353) = —.29
IF D= 16.653, I.F. = 2XCI6.653-16.5)=-F.3I
IF D= 17.022, I.F. = 2X ( .022) = +.04

IV
Tab Arg. at Date Value

19
20
21
22
23
24
25
26
27
28 _____ __ . _ _ ______ _______________

SlLW
— Ccmbts.
k ( 1 st tuJO tvvub

-340)
Zg = Stum 
Tab.33, Arq.S =
Z7 = sum 
I7 XC-rlO5

Latitude - Sum, 
" Tab.5,H

V
Tab Arq

Date

l 
2
3 
4
5 
6
7

--------------- - — - —

———

— ■---------
■--------- -

S IV

10
11
12
13

Wl — — —

— —

S uzm
I.F________
k (1st Sum- 54 5)

“-------—

Z 8 - Sam — Table 24, V

V 
Tab Arg.at Date V alue

1 5
1 6
1 7
1 8
1 9
21
22

---------------—_ _ ---- :------

-------- —

S uzwx ____________
k (Tab.19-200)
9 (Const.)

—

Z q — Sum 
Tab. 24, Tab. Arg. 

ff Parallax

—



Drop last two digits from III Drop one digit from IV $ V

( S um_______
3 ?Tab.47x k 

III
Tab Arq.

Date

1
2
3
4
5
6
7

— — — _ —

S UI’ 
16 
iq

m

—
— —

S um
I.F._____
k x 1st so

—

= Sam --  -
40

41

4a

43
44
45
46
47 . —

*10 ----

IV
Tab A-ng.

Date

1
2
3
4
5
6
7

Sur 
12 
13 
1 4 
1 5

fl —

■■ 1 ■

—

Sum

I.F.___________
k x 1st sum =

= s um 
21a 
?344- 10 
P35 (P34 -103) 

4-10 
19 + 9 k 
_ n

S = sum

i

2

5

4
5

16

VI Tab. Arg. Value

Paa + ioo

P23 4- 100
P244- 100
24 + 9k = — - . _

Z । o = s um --- ---------- ---

I.F =
For Tab. P £3 VI
Date =

Per. = X 270.95 =
Arg.=

k =

Dropping of digits from VI 
indicated by divisors io §ioo

Interpolating Factor

For Tab. P 29-VI
Date =

Per.= x £57.14
Arg. =

If D= 16.353, I.F. = 2 X (.16.5 -16.353) = ~. 29
IFD =16.653, I.F. = 2 X C I 6.653 — 16.5 ) = "f". 31
IF D= 17.022, I.F. = 2X ( .022) = + .04

Zg - Sam

V 
Tab Arg

Date

1
2
3
4
5
————

6
7

S a/

1 0

W1 — — —
1 1
12
13

S arm
I.F________
k (1st sum- 595)

—
Table 24, V

7l

33 

7?. 
73 

Th 

76 

77

V 
Tab Arg. at Date V alue

l 5
1 6
1 7
1 8
1 9
21
22

*— --
——— - ■ -------------- —

S ivm
k (Tab. 19-200)
9 (Const.)

-- —
Eq~Sum 
Tab. 24, Tab. Arg. 

ff Parallax
—



Drop last two digits from III Drop one digit,From IV $ V

I

2

3

4

5
16

53

54

55

56

57

58

59

60

61
62

III
Tab Arg.

Date

1
2
3

5
6
7

1 
I 

'
1 

1 
1

— i 
! 

।

1 
I 

1

S am
16 |_____
19 |

—
—

—

Sum
I.F._____
k x 1st sum

—

z( = sum _  •
40
41

—— —

42
43

----

44
45

— -------—

46
47 —

—

X,0

*3 (Sum_____
^Tab.47 x k __

Ill
Tab Arg.at Date Value
23
24
25

-------------- — —
—

26
27
28

— — ——.------- •-------

29
Su 
30

m_________________ —

31
32
33
34
35
36
37
— —

38
39

L __ -__ __ _

£ ( Sum 
2 ( k x 1st sum

Loraltude = sum 
Tab. 5,11

VI Tab. Arg. Value

P22-r 100

P234 100

P24~ 100
2449k =

Z, o = S am _— .

IV
Tab Arg.

Date

1
2 
3
4
5 
6
7

------

—

Sur 
12 
13 
14 
15

n

—
—

—
—

Sum — — —

IT.___________
k x 1st sum =

Z4 = sum
'Ll 
?34-r 10
P35 (P34 “IO3)

-rlO
14 + 9 k
- A___________
S = sium

I.F. =
For Tab. P 23 VI
Date =

Per. = X 270.95 - 
A-pg.=

k =

For Tab. P 24-VI
Dropping of digits from MI Date =
indicated by divisors 10 %ioo Per. = X 2 57.14 =

Arg. =
I nterpolating Factor
IFD= 16.353, I.F. = 2 X C 16.5 - 16-353) = 29
IFD =16.653, I.F. = 2 X (. 16.653 — 16.5) = T. 31
IF D = 17.0 22 , I.F. = 2x1.0 22) - 4-.04

IV 
Tab Arg. at Date Value

1 9
20
21
22
23
24
25
26
27
28 ------- -....

S u/nn
~~ C OTLbtS .
k ( 1 St tcDO IvnjLb

-340)

—

£5 = Sum 
Tab. 33, Arg.S =

-------------

Z7- sum 
E7 XC-T IO5 —

Latitude — sum 
" Tab.5,11

76

33

7?.

V 
Tab

I 5
I 6
I 7
1 8
I 4
2.1
22

Arg.at Date V alue

k (Tab. 19-200)
9 (Const.)

_________________
D q — S Um
Tab. 24, Tab. Arg

ff Parallax

I dig Lt from figuX£4 in 
Table 24, V



Drop last two digits from III Drop one digit From IV $ V

C Sum ------
3 J Tab.47 x k 

III
Tab Arg.

Date

1 
2 
3 
4 
5 
6 
7

— —
—

i 
! 

1

1 
III— —

—
Sum — — —

Sum
ik---------
k x 1st sum

—

I, = sum —
40
41

4a 
43
44
45
46
47

—--- ---------

.. — — ------------

^>0

Ill
Tab Arg.atDate

1

Value

23
24

—
25
26
27
28
zq
Su 
30

m_________________ —
31
32
33
34
35
36
37

— —
38
3q

L
■---

£ r Sum 
2 ( k x 1st sum

Si

Longitude = sum 
Tab. 5, II

--- -

IV
Tab Arg.

Date

1 
2 
3 
4 
5 
6 
7

——•-

—

1

- -----------

—

SuT 
12 
13 
14 
15

n —

——-

— ~ —

—

Sum

k x 1st sum = —————
Z4 = sum, 
Zz___________
P344-10
P35 (P34-103)

410
19 + 9 k 
- A

1 
1

1 
1

S = sum

i

2

3
4
5

16

VI Tab. Arg. Value

O 
O 

O 
II 

o o o
T 

-I- 4 J
 

C
U » 4- 

4- 
(Q 

C
l] 

(\) 
4* 

p- p- p- M

_____________ —

ZIO= Sum .—----- -

I.F. =
For Tab. P £3 VI
Date =

Per. = X 270.95 =
Arg.=

k =

Dropping oFdigits From VI 
Indicated by divisors 10 §ioo

For Tab. P 24- VI
Date =

Per. = x 257.14 =

Interpolating Factor
IFD= 16.353, I.F. = 2X CI6.5-16.353)= -29
IF D = 16.653, I.F. = 2X(I6.653 -16.5)= -F.3I
IF D = 17.022 , I.F. =• £X ( .022) = -b.04

IV
Tab Arg. at Date Value

1 A
20
21
22
23
—---- .

24
25
26
27-
28 _________ __ ____ _- - --
SuAYI

— C onZ/ts.
k ( I st tcoo tvvAjLb

— 340)

—
5 — s LWY\

Tab.33, Arq.S =
--- .

- sum
^•7 XC-rlO5 —
Latitude - sum 

" Tab,5,11

16

17
18 
H

V
Tab Arg

Date

1
2
3 
4
5 
6
7

—-----------

—
-----------:

S u?

10
1 1
12
13

Wl — — —

— — —

S unm
I.F________
k (1st Sum- 59 5)

“ --------—

Z 8 -sam —

Tab
7l 1 5
33 1 6
71 1 7
73 1 8
7*» 1 9
76 21
77 22

Arg.at Date V alue

Table 24, V

S wwx _____________
k (Tab.iq-aoo)
A (Const.)
^8_______________
Dq - Slim
Tab. 24, Tab. Arc 

Parallax



Drop last two digits From HI Drop one digit From IV $ V

iii : 
Tab Arq.

Date

•

III
Tab Arg.at Date

I

Value

16
17

18
19

IV
Tab Arg.

Date

1
2 
3
4 
5
6 
7

| 
i 
i 
I

1 
1 
1 
1 
1

— 23
24
25
26
27
28 
aq

■ ■ ■ - ■ — ■ --- 1 
2 
3 
4 
5 
6 
7

—
—

III
 1 

II!

—

— —
— —

Sum 
16 1____
iq 1

— — Sum
—

— —

— 30
31
32
33
34
35
36
37
38
39

SuY 
12 
13 
14 
15

n

S ixm ---------------------- ---------
I.F 
k x

—
11st sum

Ei = sum — Sum
40
41

4a 
43
44
45
46
47

—

I.F. 
k x— 1st sum = -____

= sura
V

-------------------------------------- ---

1—
P3'

£ r Sum 
2 ( k x 1st sum

r3

Longitude = sum 
Tab. 5,11

1-4 10--- — -------——— P35 (P34-I03)
410

19 + 9 k 
_ A

-------  -------

*.o

I. ( Sum 
?Tab.47x !■

S = sum
c __

i

2

3
4
5

16

IV
Tab Arg.

Date

34
35
36
37
38
43

Sum —_—. — —

VI Tab. Arg. Value

P22 4 100 
P234 100
P244 100 
2449 k = ____ _

Z|0= sum —

I.F. =
For Tab. P £3 VI
Date =

Per. = X 270.95 =
Ai*g.=

k =

I.F.
— Consts. 
P 36 4 IO = 
P 36X37 4-10=

Sam = C=

For Tab. P 24-VI
Dropping of digits from VI Date = 
tndicateaby divisors 10 §ioo Per.= X 257.14

Arg. =
Interpolating Factor
IF D = 16.353, I.F. = 2 X < 16.5 ~ 16.353) = ~.£9
IF D = 16.653, I.F. = 2 X ( 16.653 -16.5) = -b. 31
IF D = 17.022 , I.F. =- 2X C .022) = 4.04

IV
Tab Arg. at Date Value

19
20
21
22
23
24
25
26
27
28 _____________________ _  .. - —__

Sum
— Conbts.
k < 1 st tcoo tiznJLb

— 340)

—

= Sum 
Tab.33, Arq.S =

------------ --

2L7 = sum 
E7 XC4105

--------- —

L at Ltu.de =sum 
" Tab.5,11

Diop I digit from figuX22> in 
Table 24, V

V 
Tab Arg.at Date V alue

1 5
1 6
1 7
1 8
1 9
21
22

j-------------- ---------------------------------------------

----— —.----

—

S MZVYX ____________
k (Tab.iq-aoo)
9 (Const.)

Tq — Sum 
Tab. 24, Tab. Arg. 

rf Parallax
—

Ltu.de


Drop last two digits From III Drop one digit From IV 8j V

I

2

3
4
5

16

53

54

55

56

57

58

59

60

61
62

III
Tab Arq.

Date

1
2

— — -- -—
3

5
6
7

H — — —
S am
I 1

— — —
iq

- — — —
Sum
1F1---------
k x 1st sum

—
= Sum _ *

40
41

4a
43
44
45
46
47

— - . —
^0 _

f S urn^3 ZTab.47xk _

17

>8
19

Ill
Tab Arg.at Date

1
Value

23
24
25
26
27
28
29

------------ -- ------- —
—--------- *—----------- - ■ -------- --- -

Sum
30
31
32
33
34
35
36
37
38
39

L __
£ C Sum

( k x 1st sum
rs

Longitude = sum
Tab. 5, II

IV
Tab Arg.

Date

34
35
36
37
38
43

Sum — — —.—

VI Tab. Arg. Value

P224-100

P234 100

P244- 100
2449k =

H । o = s um —
I.F.
— C on st s. 
P 36 4-10 =
P 36X37 4-10 =

Sum = C- Sfe

Dropping of digits from VI 
Indicated by divisors 10 §ioo

Interpolating Factor

16

IV
Tab Arg.

Date

1 
2
3 
4
5
6 
7

ill

Sur 
12 
13 
14 
15

n — 111 — ■ ■
Sum — — —
I.F.________
k x 1st sum =

—
Z4 = sum.
Sz
P34 4- 10
P35 (P34-I03)

4-10
19 + 9 k 
_ A

■

1 
1 
1

S = sum

I.F. =
For Tab. P 23 VI
Date =

Per. = X 270.95 =
Arg.=

k =

For Tab. P 24-VI
Date =

Per.= x 257.14
Arg. =

IF D= 16.353, I.F. = 2X (.16.5 -16.353)= -.29
IFD=I6.653, I.F. = 2 X ( 16.653 -16.5) = 4. 31
If D = 17.022 , I.F. - 2X Q .022) = + .04

E7 X C 4-1 O'

IV
Tab Ar^. at Date Value V 

Tab Arq
Date

IB — ------------------ l ----- ——— - -----
20 — ---------------- 2 ------------- —— —------
21 3 —— ---- -----
22 — 4 ——— —
23— 5 ---------- . - -
24 ■----------------------- —_ — 6 —
25 _______________ 7
26
27
— ----------------

S U7W1 — — —

28 —-------- - -. _ — 16 1 0 — — — --- . ---
17 1 1 — — —- 1 ■- — — —

buznn
— C cvrubts.
k C1 St tcoo tuvub 

— 340)

—

18
H

12
13

S Uz
I.F

m
—

X. s = Sixm 
Tab.33, Arq.S =

k (1st sum — 5 A 5)
___________ ._____ Z8 — Sum

z7 = sum

V 
Tab Arg.at Date V alue

l 5
1 6
1 7
1 8
1 9
21
22

1

------------- —

S U/WX ____________
k (Tab. 19-200)
A (Const.)
*8

—

H q — Suvn
Tab. 24, Tab. Arg.

" Parallax
—-----------

Drop I digit from figuXid in 
Table 24, V

Latitude -Sum, 
" Tab.5,II



V clt tables
Moon’* Age

Tab. I 0
“ II 1 q
“ HI 
a IV
" V

T otat
Pjuc. Arg.

M A D U B N C 2) L T

— .

---------------------------------------------------

Longltu.de Nutation

Tabs.vii to xi 
c< XIII and XIV 
“ XII, Ato.A 
“ XV, «■ D 
" XVI, “ M 
a XVII, “ M

Nut
A

Tab. Vil, Arg. 1 
cc VIII " II

“ IX « 111
" X " IV
" XI " V

z

A' 
a"

S u/m -|o>c g —_____
B

Tab.XIII, Arg. VI
<< XIV, « VII

--------_ — — —

1 _________________

--------------- -------- »

— ----- -— --------------- —

E

a"
a"

S j’ox D =______

— ----- — --------------- . ------------ ——

Tab. XXXII, Ara. N
" XXXIII, <5ay+ k
" XXXIV, J and IX
" XXXV, D and IX
" XXXVI , Band. VI
" XXXVII, C

E fan Nut

S Ider eat Time

CO --------------— A 0 ----------------------------- (3O - _
i sino = sin co sinAcos (3 + cos co sin(3 
£ cos6 sin a = cos co sinAcos (3 — sin co sin

c •

Aog sin co =__ Aog cos co =

3

Lat ttade
g 

ITab-XXVlIl, Ana.
" XXIX, " 

z

a'
/<«■ 9 =-----------

Tab.XXVIII XXI 
« XXX, Arg.VI 
<c XXXI, (( B

Latitude

II _____
V ______

--------- :-- — -----------------------------

•

X
II u

SLTL d —

Aog cos co =

Aog cos £ =

a/ntxlog

jXYLtllog

d

OMl^cuXy o-L EctLjotic
a 0

(a) x 
de

£ (Tables I and II )

Longltu.de


Variables
Moon**

Tab. 1 0
« ii iq 
« III 
cr |v

A D U B N C 2) L T

- ----
- -------------------------- --------------------------

" V
T otat

— —
Pjuc. of. Arg. ------------------------------------ ---------------

Longltu.de Nictation In Long.Ccty) In ObXdel

Tab. VH, Arg. 1 
« VIII " II

" IX « III
" X a |Y
a X| « v

-------------- -

------------------------- ------

1 ________________

_________________ -

a'
•

a"
S u/m 7 o*c a —_____

p

— --- —

Tab.XIII, Atq. VI 
« XIV, cc VII

s

a'
— - ---------- —- ----- _ —

a" 
r jot d = ----------—------

—

Tab. XXXII, Arg. N
" XXXIII, day + k
" XXX IV, 2) and IX 
" XXXV , D and IX 
* XXXVI , D and. VI 
" XXXVII j C

£ Nut

Tabs. Vil to xi
" XIII and XIV
« XII, Arg. A 
« XV, « D 
" XVI, « M 
a XVII, “ M

Nut

- — ■ —----------------------------------------------------

Lat itu.de
g 

Tab.xxvm, Arg. 
" XXIX, " 

2

y fo-t a =

11
V ---------------------------- -

— ■------------------------------- -

X
II 8, U

I □

Tab.XXVIII XX 
" XXX, Arg.VI 
« XXXI, tr B

Latitude

--------------------*----------------

oj - -------------------------- A q - -------------------------- (3 Q - _
I s in <5 = sin co sin Acos (3 + cos cos vn(3
Z cos 6 sina = cos co sink cos (3 ~ sin cosing
3 cos 6cos a. = c.os(3cosA

I. Aog sin a> = 1 Aog cos co - _ ______
Aog sin A =________ Aog sin (3 =•_________  ______
Aog cos 3 =________ .______ _

_ __ ________ _ a/nXilog
. u

sin. d —Aog sin d x_______
d =

Z Aog cos co =___
Aog sin A —____j. ________Aog sin co =_
Aog cos (3 — . _ _ Aog sin (3 = _

3 Aog cos <$ — 
Aogcos a =

Longltu.de
itu.de


Constants Arguments C Newcomb)
_______________ Mercury Venus Mars Jupcter ■ Saturn Moon Earth._________ ________ ._________ Mea-n Obliquity

Tab. 1 o 
“ 1119

1 II III IV V VI VII VIII IX k £ (a)

cr V 
cr VI

T otcct
Pjlx. o£ Arg.

1 
' 

1

1

' 
1 

i

-----
— - — - ----------  .

— —
— —

— ------------

Variables
—

Tab. 1 0
" 1 1 1 q 
« III 
<r IV 
" V

T otat
Pjlx. of. Atcj.

M A
Moon’* Ag«

D U B N C 2) L T

Longltu.de

Tab. Vil, Arg. 1 
cr VIII " II

" IX u III
" X "IV
" XI “ V

z

----------- _

______ _ ___

—

---------------.-----------

A'
•

a"
S UAY1 7 o*c g — _____

D

— ---------- — ------------ —

Tab.XIII, Ato. V!
" XIV, « VII

E

' a'
— — ----------------------- —_ —

a"
I fw D =_______

L
Tabs. VII to XI 

" XIII and XIV 
" XII , Ato. A 
" XV, <T D 
" XVI, " M 
" XVII, “ M

Nut

—
1

;----

Nutation In Long.Ccfi/f) In Ob.GJcl

W -  --------------—_ A o - —:---------------------(3O = _
I sino = sin co sinAcos (3 + cos co sin(3
2 cos d sin a = cos co sin A cos (3 — s Ln co sen (3
3 cos 6cos a ■= cos(3cosA

I Aog sin co = _ _ Aog cos co -_________________
Aog sin A =Aog sin (3 =_________________
Aog cos 3 = _  _____________________

Tab. XXXII, Ara. N 
" XXXIII, rfay+k 
" XXXiv, J and IX 
" XXXV, D and IX 
«• XXXVI , D and. VI 
" XXXVII, C 

S fan Nut

1 
1

. 
1 
I 

i

---------------------------------- ----------------------

Sidereal Ti/me

i 
i

. a/nlxlog
1%

s Ln d — ___________Aoosmd x

Z Aog cos co 
Aog sin A 
Aog cos (3

— _ Aog svn co =
-______ :__ __ Aog sin (3 =•_

_________________ cxntulog

4__  _ __  — Aog______ _
Aog Cos =_________________
Aog sin cl —

CL =________
3 Aog cos <S =________ _ Aog cos (3 =_____________

Aogcos a. = ______ ._______Aog cos A = _ 

0{rtu^LuJty o£ EctLjotic

£ (Tables I and II ) . •____
(a) x ^Taction o| Cfi/rCt. -------
<r e ____
£ __ __________

Longltu.de


Constants
Venus Mars

Tab. I

Tab.!

T otat

: z

III 
IV

tc 
ft 
cr 
((

hi

v

t

Tabs. VII to XI
XIII and XIV

It

a/rutxla^

sin d

arttllog

Aog cos A - _

C( 

a

cr
<c
a

£ (Tables I and 11 ) 
(a) x -fraction of. cvru 
de
£

XV, 
XVI, 
XVII ,

rr V 
rr VI 

T otcut 
Pax.. Arg.

Arguments (Newcomb)
Saturn Moon Earth, ._____________  ___ i

1 II III IV V VI VII VIII IX k £ (a)

---------------------

----------- ---------

—

— ■ -------_—

—

------ ----------

-------------------------- — —

—— —

Variables
Moon‘«

M A D U B N C 2) L T

-- ----------------- ------------------- --- —---------------------------------

•---------------------------------------

— —

—

— — —

—

N at at Lon In LongZcTi/f) In Ob.GJe

IX
X

XI

A
S iwn

" XIV VII

Z)' 
J'

D 
M 
M

Lat itu.de
_ , .9
Tab.XXVili, Arg.

" XXIX, ff 
z 

d'

II
V

—

E fox g =-----------

Tab.xxviii xx 
« XXX, Arg.VI 
« XXXI, " B

Latitude

X

—

II u
—

Tab. XXXII, Arg. N 
“ XXXIII, day + k 
" XXX IV, 2) and IX 
" XXXV , D and IX 
" XXXVI , D and VI 
" XXXVII j C 

X -fan Nut

| 
i 

Ini

—

------------------------------- —

-—— - - ----------------------

----- (3° 7 "
s in o = sin co sin Acos (3 + cos a) sin (3 

2, cos 6 slna = cos co sin A cos (3 — sin co sin <3 
3 cos dcos a - cos(3cos A

Aog cos co —______
_ ___ Aog sin (3 =•_______

Aog cos <S - 
Aogcos a =

itu.de


Constants Arguments (Newcomb)
_______________ Mercury Venus Wars Jupiter Saturn Moon Earth. _________ ________ Mean Obliquity

Tab. 1 o 
« 1119 
cr V 
cr vi

T otal
Pxx. o£ Arg.

1 II III IV V VI VII VIII IX k 6 (a)

- ----------- --------------------- - ------- — — ■----------------------- — — - — — — — - -----------------------------------------------------------------

—
1 —

-- --------■— -—- — •' — - —--- —— ------ — —
— _. ■-------

------ -
-------------------------------------------------------------------

Variables
Moon’o Ag«

Tab. 1 0
“ 1 1 1 q 
« III 
<r |v

A D U B N C 2) L r

----------- ----------
" V

T otat
Pjuc.of. Atxj.

—
—

—

Longitude Natation In Long.Ccf'i/r) In Ob-GJc)

Tab. Vil, Arg. I
<r VIII " II
" IX « III
rr X " IY
" XI " V

z
A'

a"
S u/m -f 3*t g —  

D
Tab.XIII, Atq.VI 

« XIV > a VII 
i z

Tab. XXXII, Arg. N 
" XXXIII,day+k 
" xxxiv, 5 and ix 
" XXXV, D and IX 
"• XXXVI , Band. VI 
" XXXVII, C 

X -fon Nut

—----------------------------- —.

•— ------ ---------

------------- .------------------------------------  —

------.--------------

Sidereal. Time

L
Tabs. Vil to XI

" XIII and XIV
« XII, Arg. A
" XV, <r D
« XVI, « M 
a XVII, « M

Nut

" =---------- =-------------- ----------P®=-
I sind = sin co sinAcos (3 + cos co si.n(3
2 cos 6 sin a = cos co sltl A cos (3 — sin co sin (3
3 cos Scos a ■= cosfBcos A

I Aog sin co = Aog cos co - ___ ____________
Aogsin A =______________ Aog sin (3 —________ ___________
Aog cos 3 =_______________ ______ ___________

Aog cos co =___
Aog sin A —___ _______ _____Aog sin co =
Aog cos (3 — _ _ Aog sin |3 —

___ _____ = Aog___________  
Aog Cos <S —________

Aog sina —_____ .____________
a =_____ ____________

3 Aog cos <S =_______________ Aog cos [3 =_______________
Aogcos a —______ _ Aog cos A = _ 

0



Moons place at — 5I5?
Date = - fe00y+85y

Moon Tables (.Brown)
G.M.T. = -fe00y+85y = - 600 y+ 85?

Tab At<^ D 1 2 3 4 5 6 7 12 16 17 18 19

a -600 3-4009 1 2.994 1 0 1.68 6 1.77 2 6.21 3.47 98-20 62.47 23.13 1 40.467 1 5.9 0 33.1 1 57.17
2 S. v.
3 -
4
3 ~ 1 Pax .
3 -P-AXLOds

■S

Tab Axq 23 24 25 26 27 28 29
Z -600 1.5 578.0 4.5 69.7 20.0 3 8.1 1 7.0 9 4.47 1 5.5 1 7.7 8.0 5.9 18.5 200.5
z s.v.
3
4
3
3 “Pjuc.
3 Ad(.

S LVYVLb
A

Tab Atcj 30 31 32 33 34 35 36
a — goo" 1 8.5 21 1.829 3.0 235.55 1 7.0 274.32 3.0 78.52 27.5 12.82 8.5 1 5 5.5 5 1.5 0.9
a s.v.
3
4
3
3 “PaX.
3 Adc.

rx JO OVwb

Tab Av^ 37 38 39 40 41 42 43
2 .-600 7.5 2 7 0.7 4.0 1 5 0.0 0.5 20.9 7.5 89.01 57.0 1 8.3 23.5 35.8 2.0 8G.8
z S.V.., *.*»’’*

3
4
3
3 '~P&x.
3 Adj.

S UTVYVb
. '.'.t-A.-'

Tab Avq 44 45 46 47 53 54 55
•PC

z ;p-goo 5.5 38.9 1. 0 1 0.4 6.0 47.8 37.0 3.21 1 2.0 25- 1 1 6.0 32.0 14.5 2.1 5
z s.v.
3
4
3
3 “Pax.
3 Adj.

Suywvh

Tab Arq 56 57 58 59 60 61 62
2 tr60Q_ 6.5 (>1.9 15.5 105.3 ___ 2 I 4.3 43.5 4.62 1.5 1 60.7 16.0 35.1 7.5 _ 1 54_
Z S.V.
3
4
3 -

3 ~Pax.
3 Adj.

S LVWYb

Tab Atcj 71 72 73 74 76 77 82
2 -600 1 8.5 14 1.29 1 7.0 89.25 8.5 1 5 5.5 1.5 68. S 4.0 29.6 7.5 44.4 4G44
2 S.V.
3

. 4
3
3 —Pax .
3_ Adc.

Q wO U/YYUj

Tab Avq 83 84 L CD
2
2

x~G0Q 
S.V.

45 30 4539 12G76 6" 885175 5 3 7 627
- —--------------------- -— — ----- ------

3
. 4 *■

3
3 “ Pax .
3 Ady.

S uzrvxX



Drop last two digits prom III Drop one digit From IV $ V

III 
Tab Arg.

Date III 
Tab Arg.at Date'

i
Value

IV
Tab Arg.

Date

1 23 I
2 24 2
3 25 3
4 26 4
5 27 5
6 28 6
7 29 7

S am Sum —
16 30 Sum
19 31 16 12
S am 32 17 13
I.F 33 18 14
k x 1st so —____ 34 19 1 5
s. = sum ___  -. J_____ .. 35 S um
40 36 — —
41 37 I.F.
42 38 k x 1st sum =
43 39 u

2,
= sum

44
45 1-4- 10
46 C Sum — P35 IP34-I03)
47 ( k x 1st sam + 10z3 19 + 9 k
*>0

^3 ( S um Longitude - sum 
Tab. 5,

S = sum,
<Tab.47x k II —

I

2

3

4
5

16

53

54

55
56

57

58

59

60

61
62

IV
Tab Arg.

Date

34
35
36
37
38
43

Sum

VI Tab. Arg. Value
P22 + 100
P23+ 100
P24+ 100
24+9k=

—

Hlo= sum

I.F. =
For Tab. P 23 VI
Date =

Per. - X 270.95 =
Arg.=

k =

it.
~C ousts. __  _
P 36 ~ 10 =____
P 36X37 6-10 =

Sam = C= Sfe

For Tab. P 24-VI
Dropping of digits from VI Date = 
indicated, by divisors 10 §ioo Per. = X 2 57.14 —

Avy. ~
Interpolating Factor
IF D = 16-353, I.F = 2X (16.5-16.353) = -.29
IFD =16.653, I.F. = 2 X ( 16.653 — 16.5) =+. 31
IF D = 17.022 , I.F. = 2X (.022) =+.04

IV 
Tab Arg. at Date Value

19
20
21
2a
23
24
25
26
27
28

Sunn
~ C orcbts.
k (1st tcDoturub

-340)
L5 - Scum 
Tab. 33, Arq.S —
Z7 = Sum
I7 X C + 105

Lcctltude -Sum 
" Ta.b.5,11

Dxop I dig it from j’iguW in 
Table 24, V

V 
Tab Arg

Date

l *71

2 » 33

3 7?.
4 73

5 74

6 76

7 77

16

S iv

1 0

VYl — —
17 1 1
18 12
H 13

S wnn
I.F.
k (1st Sum — 595)

“---
^8 = Sam —

V 
Tab A rg. at Date V alue

l 5 
1 6 
1?
18
19
21
22

— —... -...............

-- -----------------------------------------

8 vww
k (Tab.iq-aoo)
9 (Const.)

2______________

Iq _ Sam 
Tab. 24, Tab. Arg. 

ff Parallax
—



Constants
Mere Venus Mars Jupiter

Arguments (Newcomb)
Saturn Moon Earth. M ear

Tab. I 
« II 
cc v

T otcuL
Pxx. ojl Arg.

0
1 11 III IV V VI VII VIII IX k 8 (a)

—— ---------- —
— -—

—
----— - ---------------------------- __----— ■---

V clt tables

Tab. I
cc

cc 
cc 
cc V

T otat
Pjlx. Arg.

Moor’s Age

0
N A D U B N "l L T

—

Longitude N at at Lon In Long.Crf^) In Ob.(de)

Tab. Vil, Arg. 1
cc VIII rf II
ff IX « III
rf X "IV
" XI (( V

—

—

—

Z -jbn Nat2

Sidereal Time

A

cc 
cc

cc
cc

XXXVI
XXXVII

•)

?

cc 
cc 

cc

51

2) and IX 
D and IX
D and. VI 
C

XXX IV, 
XXXV ,

Tab . XXX11, Arg. N 
cc X XX 111 Anv + I

XXVIII , Arg.
XXIX, ff

a/nXllag

Lot It ade sin

CbYvtllog

■d

og sin co = 
og sin A = _ 
og cos (3 —

Aog cos co — 
Aog sin A — 
Aog cos (3 -

OAtuyrCLy Ectljoti

£ (Tables I and II ) ________ : ____
(a) X -|Tacti0Ti o| Ci/nt.

£

_ Aog sm d — 
d =

Aog sin co = 
___ Aog sin |3 =-

Aog cos co - 
Aog sin (3 —

A 
A

S ivrr -

Tab.XIII
XIV , CC VII

r
■ M

a'

Tabs. VII to XI
XIII andXIV
XII , Arq. A
XV, cc p

XVI
XVII

A‘

cc
cc 
cc

M 
M

Tab.XXVIII XX 
« XXX, Arg.VI 
« XXXI,

LalLtade

II U

smo = sin co sin Acos (3 + cos co sm(3 
2. cosd sin a= cos cosinAcos (3 —sincosin.f3 
3 cos dcos a. - cosfBcos A

Aog cos 6* “ 
Aog s in a —

Aog cos <S = 
Aogcos a. —

Aog cos (3 = 
Aog cos A -
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